(
A = Oo| 77k S (o) >
2|2 L|E, DIN 3405 #232] Zul7 |8, El] A, ZIME
=5 dY/HIE o|0|X]|
e oY
. THE:
A - /A AEl e AEHQIBA Al 1.4305.
N R mE 022y,
T AEL Ol EF
— ESSTR )
e AHQlE|A AR FHES X2
“: e,
. e . Zmr|I™ a2lA LIE2 ol 7HER2lel £07t 2L @FE M A
\‘...ﬁ"/ - | S5
» - 2o
N 3 o Zr|@2 da2sty| e Belol 20| 228 2 A8 JIsEL
% =— ——— &, C}.
T -— /’A/
=M
1N Sw
~N 7
vV
~
T
~
ES Y
FTEHS Et el = A E 7 2 D L L1 SW
K1134.1106100 A AR St M6x1 9 6 7
K1134.1108100 A A& st M8X1 9 6 9
K1134.1108125 A A& g2t M8X1,25 9 6 9
K1134.1110100 A A& s M10x1 95 65 11
K1134.1118 A A& szt R1/8 9 6 11
K1134.2106100 A AE[QIEA AR St M6X1 82 6 7
K1134.2108100 A AE[QIEA AR st M8x1 95 65 9
K1134.2108125 A AE[QIEA AL g7 M8x1,25 95 65 9
K1134.2110100 A AE[QIHA AR S M10X1 9 6 11
K1134.2118 A AE|QIHA AE aal G1/8 9 6 11

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



0

Kinn

2|2 L|E, DIN 3405 242 Zulj7|&, EIR] A, ZIME

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



